+ T = =) =+ (—#4 1)

Eell FKELY
V= 487.35 X 0.10 = 48.74 m°®
PR WX - BEYERTEE LY
V= 0.60 X  48.4 = 29.04 m®
HEL WX - BEYERTEE LY
V= 0.28 X  48.4 = 13.55 m®
HEL WX - BEYERTEE LY
RC-40 V= 0.12 X  48.4 = 5.81 m®
Tl Z R o P v = 48. 74
PRI A4 = 29. 04
= 77.78  m®
& M B E HE L \Y = 13.55 m®
b i C #2E0 + R#E ) — L+ H#HE ) /0.9

V= 77.78 — 13.55 /0.9 = 62.72 m’




ok E®H LA EHEE

(—KYn)
A T
URLI# mEX LY
(3f#300A) L= 48.40 48.40  m 48. 4
oy Y—RZE N= 48.40 + 0.50 —  5.00 92.00 #& 92.0
(300 /1)
TL—F 7% N=  48.40 +  10.00 5.00  #& 5.0

(300/H)




U A1 |l # (B F& 300A) (10m2%4 1)

520
110 300 110
50 |5 |55 55|5|50
S
[ UZMaI3% (378 300A L=2000)
T _—
= 2]
f BHEILZIILA:3)
1= = o > {q)
SIS A S s Ro-40)
100 360 100
560
£ i at H EN VAR ~'¢ 5
UZRAITE N= 10.000 =+ 2.000 = 5.000 @ & 5. 00
(3F&E300A) ( L=2000, % B &=419kg/H )
SHEIRGRE D A o VR,
fE LX) V= 0.360 X 0.030 X 10.000 = 0.108 m® 0.11
(1:3)
AR A= 0.560 X 10.000 = 5.600  m? 5. 60

(RC-40, t=10cm)

SR A= 0.560 X 10.000 = 5.600  m”® 5. 60




u Y il 1
2 v 7 YU — K ZE (3F 300) (12 9)

412

10135, 10

T

412
sl
5 402 5
W=dSke /42
4 W af A WAL & &
a7 U—hE N= = 1000 #% 1. 00

(37, B=300) ( L=500, 75 B &#=45. Okg/K )

ZERY YA 7 ARERS




U i) 18] &

JVv—F o FE (T-25,300) (Fe=9)
412
412

W=16. bke/#%
Z i " WAL %% &
TL—F T N= = 1.000 #k 1. 00

(8 Jh4w, T-25, 300)
(BEHE~—27 N)

ZERAT Y YA 7 VR

( L=500, 275 B &#=16. bkg/K )




M ¥ I FH OH & (—R% 1)

T AT 7V MEET

KE SRR R E LY
(t=40mm) A= 487.35 = 487.35 m’ 487. 4
A KELY
(t=100mm) A= 487.35 =  487.35 m’ 487. 4
P &0

T A —T L= 14.00 = 14.00 | m 14.0




i % i 1 At L =
) £ W
W os | owo ok | T I
(m) (m) (m”)

NO. 4 NO. 4 6. 70

NO. 5 NO. 5 20. 00 3. 00 4. 85 97. 00

NO. 6 NO. 6 20. 00 3. 10 3. 05 61. 00

NO. 7 NO. 7 20. 00 2.95 3. 03 60. 60

NO. 8 NO. 8 20. 00 3. 30 3.13 62. 60

NO. 9 NO. 9 20. 00 2.18 2.74 54.80 2.90-0.72
NO. 10 NO. 10 20. 00 3.53 2. 86 57.20 4.25-0.72
NO. 11 NO. 11 20. 00 2.88 3.21 64. 20 3.60-0.72
NO. 11 NO. 11 + 10.40 10. 40 2. 88 2. 88 29. 95 3.60-0.72
&t 150. 40 3. 24 487. 35




Il

B AR BEER L EE (—5%4 )

M=z ) — L

LR SEmX LY
Mgk ar 7 U—h A= 0. 20 X 48. 40 = 9.68 m?
(t=100mm)




A Fh

K

(1004 )

£ i H H BN % iy
=7 Y—Fk V= 100.000 X 0.100 = 10.000 m?® 10. 00
(18-8-25)
t=100mm
H ikt N= 100.000 = ( 0.200 X 10.000 ) = 50. 000 | f& 7T
(T FHGIAE T H Hib) MEPIW=20cm
t=10cm
A= 0.200 X 0.100 X 50.000 = 1.000  mi 1. 00




mEY M ELHRSE

(—xH )
FEEY EEE L T
T A7 7 bk B LR EELY
SPEERREUE L A= 530. 84 530.84  m 530. 8
(t=10cmlLF)
TAZ77N L=  6.70 +  3.60 10.30  m 10.3
EAE R B T
(t=15cmbA F) ¥No. 4 : 6.70m, No. 11+10. 40 : 3. 60m
TR ALER T
I V= 530.84 X  0.04 21.23  m° 21.2
(TAZ7F7IL k)
RISy ARIEE LD
(7277 k) | V= 21.23 21.23 m® 21.2




iy e L %iﬁt = g
B 7 A 7 7 b b MO
Woasoow ok | TR R ETI
(m) (m) (m®

NO. 4 NO. 4 6. 70
NO. 5 NO. 5 20. 00 3.00 4. 85 97. 00
NO. 6 NO. 6 20. 00 3.10 3. 05 61. 00
NO. 7 NO. 7 20. 00 2.95 3.03 60. 60
NO. 8 NO. 8 20. 00 3.30 3.13 62. 60
NO. 9 NO. 9 20. 00 2.90 3. 10 62. 00
NO. 10 NO. 10 20. 00 4. 95 3.58 71. 60
NO. 11 NO. 11 20. 00 3.60 3.93 78. 60
NO. 11 NO.11 +  10.40 10. 40 3.60 3. 60 37. 44
Bl 150. 40 3.53 530. 84




R ® L # H & (—#4 1)

1. 00 = 1.00 =




